

Outcomes of Controlled Allocation Order (various groundwater sources) 2020

The registration of interest for the Controlled Allocation Order 2020 commenced on 23 June 2020 and closed on 22 July 2020.

The table below details the number of shares purchased and the price paid per share for each respective water source.

Table 1: Outcomes of the Controlled Allocation Order 2020

Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Water Sharing Plan for the NSW Murray Darling Basin Fractured Rock Groundwater Sources 2011	Adelaide Fold Belt MDB Groundwater Source	n/a	78	0	\$0	\$0
	Kanmantoo Fold Belt MDB Groundwater Source	n/a	349	1	\$500	\$500
	Belt MDB Belt Groundwater (Oth Source Man	Lachlan Fold	3,618	30	\$650	\$19,500
		Belt MDB (Other) Management Zone		113	\$650	\$73,450
				50	\$650	\$32,500
				41	\$650	\$26,650
	New England n/a Fold Belt MDB Groundwater	n/a	/a 579	7	\$5,100	\$35,700
				25	\$1,160	\$29,000
	Source			80	\$750	\$60,000
Water Sharing Plan for the NSW Murray Darling	Sydney Basin MDB Groundwater Source	n/a	346	0	\$0	\$0
Basin Porous Rock			4,043	200	\$1,250	\$250,000



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Groundwater Sources	Gunnedah-Oxley Basin MDB	Gunnedah-		100	\$750	\$75,000
2011	Groundwater Source	Oxley Basin MDB (Other) Management Zone		90	\$652	\$58,680
	Western Murray Porous Rock Groundwater Source	n/a	6,652	0	\$0	\$0
Water Sharing Plan for the North Western Unregulated and Fractured Rock Water Sources 2011	Adelaide Fold Belt North Western Groundwater Source	n/a	1,171	0	\$0	\$0
	Kanmantoo Fold Belt North Western Groundwater Source	n/a	1,077	0	\$0	\$0
Water Sharing Plan for the Greater Metropolitan	Coxs River Fractured Rock Groundwater Source	n/a	282	0	\$0	\$0
Region Groundwater Sources 2011	Goulburn	n/a	1,868	10	\$810	\$8,100
Sources 2011	Fractured Rock Groundwater Source			300	\$650	\$195,000
	Course			160	\$650	\$104,000
				250	\$650	\$162,500
	Hawkesbury Alluvium Groundwater Source	n/a	49	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Metropolitan Coastal Sands Groundwater Source	n/a	1,071	10	\$600	\$6,000
	Sydney Basin Central	n/a	1,102	50	\$500	\$25,000
	Groundwater Source			100	\$500	\$50,000
				100	\$500	\$50,000
	Sydney Basin North Groundwater Source	n/a	750	0	\$0	\$0
	Sydney Basin South Groundwater Source	n/a	2,731	0	\$0	\$0
Water Sharing Plan for the NSW Great Artesian Basin Shallow Groundwater Sources 2011	GAB Surat Shallow Groundwater Source	n/a	377	0	\$0	\$0
	GAB Warrego Shallow Groundwater Source	n/a	1,387	0	\$0	\$0
Water Sharing Plan for the North Coast CoastalSands GroundwaterS ources 2016	Bellinger- Nambucca Coastal Sands Groundwater Source	n/a	43	0	\$0	\$0
	Clarence Coastal Sands Groundwater Source	n/a	184	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Coffs Harbour Coastal Sands Groundwater Source	n/a	137	0	\$0	\$0
	Great Lakes Coastal Sands Groundwater Source	n/a	611	0	\$0	\$0
	Hastings Coastal Sands Groundwater Source	n/a	305	0	\$0	\$0
	Hawkesbury to Hunter Coastal Sands Groundwater Source	n/a	813	30	\$500	\$15,000
	Macleay Coastal Sands Groundwater Source	n/a	282	0	\$0	\$0
	Manning- Camden Haven Coastal Sands Groundwater Source	n/a	143	0	\$0	\$0
	Richmond Coastal Sands	n/a	769	150	\$711	\$106,650
	Groundwater Source			150	\$611	\$91,650
	Stockton Groundwater	n/a	635	100	\$5,100	\$510,000
	Source			200	\$500	\$100,000



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Tweed- Brunswick Coastal Sands Groundwater Source	n/a	793	100	\$501	\$50,100
Water Sharing Plan for the North Coast Fractured and	Bulahdelah Sandstone Groundwater Source	n/a	6	0	\$0	\$0
Porous Rock Groundwater Sources 2016	Clarence Moreton Basin	n/a	13,267	20	\$2,004	\$40,080
Sources 2016	Groundwater Source			100	\$1,250	\$125,000
				150	\$1,000	\$150,000
				50	\$1,000	\$50,000
				30	\$710	\$21,300
				15	\$600	\$9,000
				10	\$600	\$6,000
				20	\$600	\$12,000
				20	\$525	\$10,500
				20	\$500	\$10,000
	Comboyne Basalt	n/a	82	4	\$5,100	\$20,400
	Groundwater Source			78	\$3,000	\$234,000
	Dorrigo Basalt Groundwater Source	n/a	183	0	\$0	\$0
	Liverpool Ranges Basalt Coast Groundwater Source	n/a	386	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Lorne Basin Groundwater Source	n/a	409	0	\$0	\$0
	New England	n/a	1,529	7	\$3,200	\$22,400
	Fold Belt Coast Groundwater			30	\$1,550	\$46,500
	Source		4	\$1,200	\$4,800	
				3	\$1,200	\$3,600
				30	\$1,100	\$33,000
				25	\$1,008	\$25,200
				3	\$800	\$2,400
				30	\$786	\$23,580
				40	\$750	\$30,000
				50	\$705	\$35,250
				100	\$700	\$70,000
				50	\$609	\$30,450
				40	\$600	\$24,000
				20	\$600	\$12,000
				10	\$588	\$5,880
				18	\$582	\$10,476
				100	\$580	\$58,000
				119	\$530	\$63,070
				200	\$530	\$106,000
				100	\$511	\$51,100
				20	\$510	\$10,200



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
				43	\$510	\$21,930
				50	\$510	\$25,500
				25	\$507	\$12,675
				40	\$505	\$20,200
				3	\$500	\$1,500
	North Coast	n/a	265	60	\$905	\$54,300
G	Volcanics Groundwater			50	\$755	\$37,750
	Source			75	\$625	\$46,875
Water Sharing Plan for the South Coast Groundwater Sources 2016	Lachlan Fold Belt Coast Groundwater Source	n/a	704	15	\$550	\$8,250
	South East Coastal Sands Groundwater Source	n/a	212	0	0	\$0
	Sydney Basin- South Coast Groundwater Source	n/a	936	0	\$0	\$0
Water Sharing Plan for the Brunswick Unregulated and Alluvial Water Sources 2016	Brunswick River Coastal Floodplain Alluvial Groundwater Source	n/a	35	0	0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Water Sharing Plan for the Macleay Unregulated and Alluvial Water Sources 2016	Coastal Macleay Floodplain Alluvial Groundwater Source	n/a	70	0	0	\$0
Water Sharing Plan for the Nambucca Unregulated and Alluvial Water Sources 2016	Coastal Nambucca Floodplain Alluvial Groundwater Source	n/a	40	0	0	\$0

[©] State of New South Wales through Department of Planning, Industry and Environment 2021. The information contained in this publication is based on knowledge and understanding at the time of writing (September 2021). However, because of advances in knowledge, users should ensure that the information upon which they rely is up to date and to check the currency of the information with the appropriate departmental officer or the user's independent adviser.